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(—) | (mg/1)] (mg/L) | (mg/L) | (mg/L) | (mg/1) | (mg/L) | (mg/L1) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/1) | (mg/L) | (mg/1) | (mg/L) | (mg/L) | (mg/1) | (13
o, 3 CHaHY)6.5~8.5]5me/LLL T _ 50mg/LEL T | 5mg/LLA L) _ _ _ _ 0.01mg/L S 0.01mg/L] 0.05mg/L.] 0.01mg/1.| 0.0005mg/L| S 0.03mg/L{0.01mg/L| 1mg/L | 10mg/L _ _ o

SRS EX76.0~8.5] 1ome/Lon L | 2mg/LU L PLF B DFE| UF | UF | UF B DFE| UF | UF | UF

20. 6.19] 7.7 1.0 3.4 4 7.9 2.6 | 0.30 | <0.5 ] 0.11 — — — — — — — — — — — — — 0.04
20. 7.25] 7.9 2.3 1.6 1 7.1 2.7 | 0.41 [ <0.5 ]0.06 — — — — — — — — — — — — — 0.04
1 20. 8. 8] 8.4 1.3 4.8 4 7.2 2.7 1039 [ <0.5 10.04 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — 1<0.002]<0.0005[<0.0005] 2.7 2.6 | 0.07 [ 0.03
JEJI| b3 [20.10.8) 7.9 1.9 4.1 2 10 3.5 | 0.28 | <0.5 ] 0.10 — — — — — — — — — — — — — 0.12
(Z=pEssi) [200217 7.6 2.1 5.1 <1 9.4 4.6 1032 ] <05 ] 0.12 — — — — — — — — — — — — — 0.07
cgrEn L) [212.13] 7.5 3.2 4.8 1 9.5 46 [ 029 [ <05 [0.12 [<0.001] <0.1 [<0.005] <0.02 ]<0.005]<0.0005] — 1<0.002]<0.0005[<0.0005] 3.8 3.6 0.16 | 0.08
i NfE] 8.4 3.2 5.1 4 10 4.6 | 0.41 | <0.5 | 0.12 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — ]<0.002]<0.0005[<0.0005] 3.8 3.6 | 0.16 | 0.12
w/AMEL 7.5 1.0 3.4 <1 7.1 2.6 | 0.28 [ <0.5 [ 0.04 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — 1<0.002]<0.0005[<0.0005] 2.7 2.6 | 0.07 [ 0.03
TAfE] 2.0 4.5 2.0 8.5 3.5 | 033 ] <0.5 ] 0.09 [<0.001] <0.1 [<0.005] <0.02 ]<0.005]<0.0005] — [<0.002]<0.0005]<0.0005] 3.2 3.1 | 0.12 [ 0.06
20. 6.19] 7.1 2.1 6.0 22 5.7 4.0 1.4 <0.5 | 0.10 — — — — — — — — — — — — — 0.28
20. 7.25] 7.6 4.4 6.2 <1 7.2 4.0 | 0.57 [ <0.5 ] 0.08 — — — — — — — — — — — — — 0.06
2 20. 8. 8] 8.0 1.6 6.9 4 5.5 4.1 | 0.84 [ <0.5 1 0.04 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — 1<0.002]<0.0005[<0.0005] 2.7 2.3 ] 0.38 ] 0.29
JEJI Rt [20.10.8] 7.6 5.0 6.8 2 6.6 4.7 1.3 <0.5 | 0.12 — — — — — — — — — — — — — 0.40
oA [20.12.17) 7.4 6.9 7.6 4 7.6 5.4 1.2 <0.5 | 0.12 — — — — — — — — — — — — — 0.22
cggrEre L) [21.2.13] 7.2 [ 120 | 85 3 7.8 5.9 1.9 <0.5 | 0.12 [<0.001] <0.1 [<0.005] <0.02 ]<0.005]<0.0005] — ]<0.002]<0.0005[<0.0005] 2.7 2.3 | 0.38 ] 0.29
HAfE] 8.0 | 12.0 | 85 22 7.8 5.9 | 1.90 | <0.5 | 0.12 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — [<0.002]<0.0005[<0.0005] 2.7 2.3 | 0.38 | 0.40
w/MEL 7.1 1.6 6.0 2 5.5 4.0 [ 0.57 [ <0.5 1 0.04 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — 1<0.002]<0.0005[<0.0005] 2.7 2.3 ] 0.38 ] 0.06
A fE] 5.3 7.0 7.0 6.7 4.7 | 1.20 | <0.5 | 0.10 [<0.001] <0.1 [<0.005] <0.02 ]<0.005]<0.0005] — [<0.002]<0.0005]<0.0005] 2.7 2.3 | 038 ] 0.26
20. 6.19] 7.9 1.1 3.9 5 6.9 1.5 [ 0.17 | <0.5 [ 0.04 — — — — — — — — — — — — — 0.15
20. 7.25] 8.0 1.7 3.7 <1 7.4 1.3 [ o014 | <05 [o.01 — — — — — — — — — — — — — 0.08
3 20. 8. 8] 8.2 2.0 5.8 3 5.5 0.7 [ 0.13 T <0.5 T 0.0 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — 1<0.002]<0.0005[<0.0005] 0.5 0.5 | <0.04 ] 0.08
M B 7K [20.10. 8] 7.8 2.8 4.9 3 6.1 2.0 | o0.17 | <0.5 ] 0.03 — — — — — — — — — — — — — 0.10
wENETS) [20.02.17) 7.5 1.7 4.6 3 7.0 2.0 [ 0.15 [ <0.5 ] 0.06 — — — — — — — — — — — — — 0.09
cgEn L) [21 2,13 7.3 2.9 5.2 4 7.9 2.0 [ 052 [ 09 [0.06 [<0.001] <0.1 [<0.005] <0.02 ]<0.005]<0.0005] — 1<0.002]<0.0005[<0.0005] 1.5 1.4 | 0.07 ] 0.12
O NE] 8.2 2.9 5.8 5 7.9 2.0 | 0.52 | 0.9 ] 0.06 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — [<0.002]<0.0005[<0.0005] 1.5 1.4 | 0.07 ] 0.15
wME] 7.3 1.1 3.7 <1 5.5 0.7 [ 0.13 T <0.5 T 0.0 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — 1<0.002]<0.0005[<0.0005] 0.5 0.5 [ 0.07 ] 0.08
A fE] 2.0 4.7 3.0 6.8 1.6 | 021 | 015 | 0.04 [<0.001] <0.1 ]<0.005] <0.02 |<0.005[<0.0005] — ]<0.002]<0.0005[<0.0005] 1.0 1.0 [0.035 ] 0.10
20. 6.19] 7.7 1.6 5.2 2 5.8 2.1 | 0.33 | <0.5 | 0.06 — — — — — — — — — — — — — —
20. 7.25] 8.0 1.7 5.4 2 7.7 1.4 [ o027 | <05 [0.03 — — — — — — — — — — — — — —
4 20. 8. 8] 8.3 1.2 8.4 4 7.6 2.0 [ 0.37 [ <0.5 1 0.02 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — 1<0.002]<0.0005[<0.0005] 1.8 1.7 [ 0.06 —
KAl [20.10. 8] 8.1 1.6 4.8 6 8.0 2.3 1023 | <05 ] 0.02 — — — — — — — — — — — — — —
CHRFE) [2002.17 7.8 2.0 6.2 5 8.4 3.8 [ 0.42 [ <05 To.10 — — — — — — — — — — — — — —
(CHRlEE) |21, 213 7.5 3.1 5.3 3 9.6 3.4 [ 022 1 <05 [0.09 [<0.001] <0.1 [<0.005] <0.02 ]<0.005]<0.0005] — 1<0.002]<0.0005[<0.0005] 3.4 3.2 | 0.22 —
i NfE] 8.3 3.1 8.4 6 9.6 3.8 | 0.42 | <0.5 | 0.10 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — [<0.002]<0.0005[<0.0005] 3.4 3.2 | 0.22 —
w/AMEL 7.5 1.2 4.8 2 5.8 1.4 [ 0.22 | <05 [ 0.02 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — ]<0.002[<0.0005[<0.0005] 1.8 1.7 [ 0.06 —
TAfE] 1.9 6.0 4 7.9 2.5 | 031 | <0.5 ] 0.05 [<0.001] <0.1 [<0.005] <0.02 ]<0.005]<0.0005] — [<0.002]<0.0005]<0.0005] 2.6 25 | 0.14 —
20. 6.19] 7.4 0.7 6.0 <1 6.1 2.2 | 0.37 | <0.5 ] 0.07 — — — — — — — — — — — — — 0.42
20. 7.25] 8.0 1.8 6.0 1 8.2 1.8 [0.33 ] <05 [0.03 — — — — — — — — — — — — — 0.43
5 20. 8. 8] 8.3 2.3 7.7 12 6.7 2.2 | 0.40 [ <0.5 10.09 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — 1<0.002]<0.0005[<0.0005] 2.0 1.9 [o0.08 ] 0.49
SEEF )] 3 [20.10.8) 7.8 2.7 6.9 10 7.1 3.0 035 | <0.5 ] 0.03 — — — — — — — — — — — — — 0.23
(B b)) [2012.17] 7.5 1.8 8.0 14 7.4 5.3 | 050 | <0.5 ] 0.14 — — — — — — — — — — — — — 0.09
(i) |21, 213 7.3 4.5 7.4 20 3.1 4.9 [ 0.40 [ <05 T 0.10 [<0.001] <0.1 [<0.005] <0.02 ]<0.005]<0.0005] — 1<0.002]<0.0005[<0.0005] 3.9 3.7 | 022 ] 0.14
i NfE] 8.3 4.5 8.0 20 8.2 5.3 | 0.50 | <0.5 | 0.14 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — [<0.002]<0.0005[<0.0005] 3.9 3.7 | 0.22 | 0.49
wAME] 7.3 0.7 6.0 1 6.1 1.8 [ 0.33 | <0.5 [ 0.03 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — ]<0.002[<0.0005[<0.0005] 2.0 1.9 [ 0.08 ] 0.09
A fE] 2.3 7.0 11 7.3 3.2 1039 | <0.5 ] 0.08 [<0.001] <0.1 [<0.005] <0.02 ]<0.005]<0.0005] — [<0.002]<0.0005]<0.0005] 3.0 2.8 | 0.15 [ 0.30
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(=) |(meg/L)] (mg/L)| (mg/L)| (mg/L)] (mg/L)| (mg/L)] (mg/L) | (mg/L)| (mg/L) | (mg/L)| (mg/L) | (mg/L)| (mg/L)| (mg/L)| (mg/L) | (mg/L)| (mg/L) | (mg/L) | (mg/L)

sy B CHARLY6.5~8.5]5me/Lon T |some/nsi vl sme/Loik] _ _ _ [0-01mg/Lf = 11, ]0.01mg/L| 0.05mg/1) 0.01meg/L0.0005me/L] -y yy,10.03mg/L] 0.01mg/L| 1mg/L | 10mg/Li
SRS EJA7 16.0~8.5] 1ome/L0t = iniiL | 2mg/LLLE LLF Tl UF L PE | U | BLE Tl UFT |\ T | P | DI
20. 6.19] 7.6 1.4 6.7 11 6.4 2.4 ] 040 ] 0.9 ] 0.08 — — — — — — — — — — —
20. 7.25] 8.3 1.9 6.0 2 9.7 1.8 1038 | 0.6 [0.04 — — — — — — — — — — —
6 20.8. 8] 7.9 2.9 7.8 28 5.6 2.3 | 0.41 [ <0.5 1 0.05 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — 1<0.002]<0.0005[<0.0005] 1.9
SEBF )| R [20.10. 8] 7.8 4.6 6.5 3 9.6 3.1 0.33 | <0.5 | 0.06 — — — — — — — — — — —
O\ [20.12.17] 7.8 2.6 8.3 3 4.8 5.4 | 0.56 [ <0.5 [ 0.12 — — — — — — — — — — —
(Efmss) [21.2.130 7.3 3.6 7.0 4 7.3 50 | 0.40 [ <05 [ 0.12 [<0.001] <0.1 [<0.005] <0.02 |<0.005]<0.0005] — ]<0.002]<0.0005[<0.0005] 3.8
EERE IEE 4.6 8.3 28 9.7 5.4 1 0.56 | 0.9 | 0.12 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — ]<0.002]<0.0005[<0.0005] 3.8
/ME] 7.3 1.4 6.0 2 4.8 1.8 [ 0.33 | <0.5 [ 0.04 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — ]<0.002[<0.0005[<0.0005] 1.9
PAfE) - 2.8 7.1 9 7.2 3.3 | 0.41 [ 025 [0.08 [<0.001] <0.1 [<0.005] <0.02 ]<0.005]<0.0005] — ]<0.002]<0.0005[<0.0005] 2.9
20. 6.19] 7.7 1.0 6.2 <1 5.6 2.4 | 0.40 | <0.5 | 0.06 — — — — — — — — — — —
20. 7.25] 8.2 1.5 6.5 1 8.2 1.8 | 0.34 | <0.5 [ 0.04 — — — — — — — — — — —
7 20. 8. 8] 8.3 2.0 7.5 10 7.4 2.2 | 0.42 | <0.5 ] 0.03 [<0.001] <0.1 [<0.005] <0.02 <0.005]<0.0005] — 1<0.002]<0.0005[<0.0005] 2.1
)l [20.10.8] 7.9 2.6 6.6 10 6.6 3.0 [0.34 ] <0.5 ] 0.05 — — — — — — — — — — —
O\ [20.12.17] 7.8 1.3 7.4 7 7.6 47 1051 [ 08 [o.12 — — — — — — — — — — —
g L) (210 2,130 7.4 4.8 6.7 14 9.4 50 | 039 [ 06 [0.12 [<0.001] <0.1 [<0.005] <0.02 ]<0.005]<0.0005] — ]<0.002[<0.0005]<0.0005] 4.4
ISRE EE 4.8 7.5 14 9.4 5.0 | 0.51 | <0.5 | 0.12 [<0.001] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — ]<0.002]<0.0005[<0.0005] 4.4
/ME| 7.4 1.0 6.2 <1 5.6 1.8 [ 034 | <0.5 [ 0.03 [<0.000] <0.1 [<0.005] <0.02 [<0.005]<0.0005] — ]<0.002]<0.0005[<0.0005] 2.1
PAfE) - 2.2 6.8 7 7.5 3.2 | 0.40 [ <0.5 [ 0.07 [<0.001] <0.1 [<0.005] <0.02 |<0.005]<0.0005] — ]<0.002]<0.0005[<0.0005] 3.2
20. 6.19] 7.1 2.2 8.0 8 3.8 2.3 [ 050 | 0.5 [o0.12 — — — — — — — — — — —
20.7.25] 7.6 2.5 6.4 2 7.6 1.7 1 0.35 | 0.5 [ 0.04 — — — — — — — — — —

20.8.8) 7.9 2.8 8.6 14 3.7 2.1 0.44 <0.5 | 0.06 ]1<0.001] <0.1 [<0.005] <0.02 |<0.005<0.0005] — ]<0.002<0.0005[<0.0005] 1.3

8
-3 ) R 1 20.10. 8] 7.7 4.2 7.3 15 4.9 3.0 0.35 | <0.5 | 0.05 — — —

O\ETsES) [20.12.17) 7.5 5.0 8.5 21 4.7 3.7 0.45 <0.5 | 0.16 — — —

CeEiifaE7e L) |21, 2.130 7.1 7.8 7.5 10 5.7 5.0 0.56 <0.5 | 0.12 ]<0.001] <0.1 {<0.005] <0.02 | <0.005{<0.0005] — <0.002§<0.0005]<0.0005] 2.6

T Bl 7.9 7.8 9 21 7.6 5.0 | 056 | 0.5 | 0.16 [<0.001] <0.1 [<0.005] <0.02 ]<0.005]<0.0005] — [<0.002[<0.0005]<0.0005] 2.6

BMEl 7.1 2.2 6.4 2 3.7 1.7 | 0.35 | <0.5 [ 0.04 [<0.001] <0.1 [<0.005] <0.02 ]<0.005[<0.0005] — ]<0.002]<0.0005[<0.0005] 1.3

EHEl - 4.1 7.7 12 5.1 3.0 | 0.44 | <0.5 1 0.09 [<0.001] <0.1 [<0.005] <0.02 1<0.005]<0.0005] — 1<0.0021<0.0005[<0.0005] 2.0

20. 6.19] 7.5 1.4 6.6 5 6.2 2.9 | 0.42 ] <0.5 | 0.11 — — — — — — — — — — —

20. 7.25] 7.7 3.4 7.7 <1 7.7 3.2 [ 034 ] <05 [ 0.06 — — — — — — — — — — —

9 20. 8. 8] 8.2 2.7 7.7 49 6.3 3.3 [ 0.37 ] <0.5 [ 0.05 [<0.001] <0.1 [<0.005] <0.02 ]<0.005[<0.0005] — ]<0.002]<0.0005[<0.0005] 2.6
EE [20.10.8] 7.7 6.1 6.2 2 6.5 3.5 | 0.32 | <0.5 ] 0.05 — — — — — — — — — — —
O\ [20.12.17] 7.6 3.2 7.2 1 5.5 4.6 [ 041 ] <05 [ o0.12 — — — — — — — — — — —
gempgEz L) (21 2,130 7.4 9.6 7.7 4 5.9 6.0 | 0.53 | <0.5 1 0.15 [<0.001] <0.1 [<0.005] <0.02 ]<0.005]<0.0005] — 1<0.002]<0.0005]<0.0005] 2.7
o MED 8.2 9.6 7.7 49 7.7 6.0 | 0.53 | <0.5 | 0.15 [<0.001] <0.1 [<0.005] <0.02 ]<0.005]<0.0005] — [<0.002[<0.0005]<0.0005] 2.7

B ME] 7.4 1.4 6.2 <1 5.5 2.9 [ 0.32 ] <0.5 [ 0.05 [<0.001] <0.1 [<0.005] <0.02 ]<0.005[<0.0005] — ]<0.002]<0.0005[<0.0005] 2.6

PEL - 4.4 7.2 10.2 6.4 3.9 0.40 <0.5 | 0.09 ]<0.001] <0.1 §<0.005] <0.02 ]<0.005]<0.0005] — ]<0.002]<0.0005{<0.0005] 2.7




